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SECTION A: THEORY Answer ONE question from this section.

Question One

(a) Give a detailed definition of literature. [6]

(b) Using the poem bélow for illustration, give a clear explanation of the significance of
the different aspects of literature included in the definition. Your response should not
exceed two pages. [24]

“To the Virgins, to Make Much of Time” Robert Herrick

Gather ye rosebuds while ye may,
Old time is still a-flying;

And this same flower that smiles today
Tomorrow will be dying.

The glorious lamp of heaven, the sun,
The higher he’s a-getting,

The sooner will his race be run,
And nearer he’s to setting.

That age is best which is the first,
When youth and blood are warmer;

But being spent, the worse, and worst
Times still succeed the former.

Then be not coy,* use your time, shy
And while ye may, go marry:

For having lost but once your prime,
You may forever tarry.* wait

Question Two

(a) Basing your discussion on either of these short stories, “The Suit” and “Beggar my
Neighbour”, discuss the intertwined functions of plot structure and plot progression as
shaped by the respective story’s thematic intentions. Your essay should not exceed 3
pages. [30]

3. What are the basic differences in terms of plot, characterization, tone and mood,
between tragedy and comedy? Discuss, using illustrations from Julius Caesar and Twelfth

Night. Your discussion should not exceed 3 pages. [30]




SECTION B: PRACTICAL CRITICISM Answer ONE question

Question Four

“It may be argued that Ebenezer Scrooge in A Christmas Carol is actually an allegorical
symbol than a full-bodied character.” In not more than 3 pages, discuss this assertion in
relation to his role in the novel. [30]

Question Five
Read the following poem and answer as directed:
An African Thunderstorm

From the west

Clouds come hurrying with the wind
Turning

Sharply

Here and there

Like a plague of locusts

Whirling

Tossing up things on its tail

Like a madman chasing nothing.

Pregnant clouds

Ride stately on its back
Gathering to perch on hills
Like dark sinister wings;
The Wind whistles by

And trees bend to let it pass.

In the village

Screams of delighted children
Toss and turn

In the din of whirling wind,
Women —

Babies clinging on their backs —
Dart about

In and out

Madly

The Wind whistles by

Whilst trees bend to let it pass.
Clothes wave like tattered flags
Flying off

To expose dangling breasts

As jagged blinding flashes




Rumble, tremble, and crack
Amidst the smell of fired smoke
And the pelting march of the storm.

a) Clearly outline the situation captured in the poem. [12]

b) Discuss with the aid of THREE well selected examples how the poet’s language
use appeals to the imagination and evokes various sensations. [12]

¢) Comment on the poem’s tone and mood. [3]

d) Briefly state the poem’s theme. [3]

Question Six

‘When considered from an Aristotelian point of view, the play, Julius Caesar, is, despite
its title, “the tragedy of Brutus™.’ Discuss.




